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aRI=TH 102-1 [=ys4t) 820-13
2RI =-TH 102-1 (=Yt 820-16
aRi1=TH 102-2 [=4s4t) 696-90
2RI =-TH 102-2 (=Yt 820-15
agkid=-TH 102-3 = FHT 696-80
aki=-TH 102-4 [=Asa:) 820-23
agkid=-TH 102-4 = FHT 820-24
aki=TH 102-5 [=Asa:) 696-209
agkid=-TH 102-5 = FHT 815-14
agEi=TH 102-6 [=Asa:) 815-35
aRI=TH 102-6 [=4s4t) 815-36
2RI =-TH 102-6 (=Yt 815-38
agkid=-TH 102-7 = FHT 815-23
agkid=TH 102-8 [=Asa:) 815-27
a2RI=TH 102-8 [=4s4t) 815-28
2RI =-TH 102-8 (=Yt 815-37
2RI=-TH 102-9 [=4s4:) 669-2
2RI =-TH 102-9 [=Ysat) 1156-9
a2RI=TH 102-10 [=4s4t) 696-208
2RI =-TH 102-10 (=Yt 815-29
a2RI=TH 102-11 [=4s4:) 696-86
akid=-TH 102-11 [=Asa:) 820-10
agkid=-TH 102-11 = FHT 820-11
=2kI=-TH 102-12 = HT 820-7
akid=-TH 102-13 = EHfT 820-18




